
Tabella dei tiri delle varie file :

Fila

Tiro di 
progetto max 
(kg)

Resistenza    
a sfilamento 
(kg)

Resistenza minima di 
snervamento del tirante 
(vedi criterio determinato 
sotto) = Td*1.25  [kN]

Tiro di 
esercizio = N 
comb1 / 1.3 
[kg]

Tiro di 
collaudo = 
N.eserc * 1.2 
[kg]

Modello 
tirante Clivio

1 24828 49159 310 19098 22918 Rm 32/15
2 19097 37813 239 14690 17628 Rm 32/15
3 13367 26466 167 10282 12338 Rm 32/24
4 7636 15119 95 5874 7049 Rm 32/24
5 1905 3773 24 1466 1759 Rm 32/24


